EARAROBEEIERT — 2 N— IBISH —F

2016558290 (H) 5EI£IR3H

m%—%ﬁé‘ B24& 5% (w8 | mEmml - |5 8) o 8
[A&4£] 1 7% :300,000” ~ 23#%&:60,000H”  33%&:27,000M”  43%&:21,000MH . 57&:12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 4| HES 1:55.4 1-1-1-1 | 40.5| -— 4 490 | HARK (£R)
1Bl 77Tt “ | 50 i Lo | ) Fr-xbEva>
R:Ty7NTT5T B XA =R TANRY L e
S5 _ f 4 | Bt 1:55.7 5-5-4-3 |39.4| — 6 473 | hOEERNSE (£R)
2 2| ¥av/FzV 54.0 (1 1/2) (3) | BETE
RV ARYIYRIR BV /AR =I5
- _¢ . . 57 _ EBER (2R)
3 3 MUY ayFRy # 5 | =8 (17;5;)% 5-5-7-4 | 39.1 8 (4_237) o
v TRy b BRI a7 ry Y avEEMASH T avH
‘ # o4 | %EBH 1:56.0 7888 (39.2| — | 9 | 455 |BEEZ (2R
4189|2177 5.0 (1 1/2) Cn | # Tr—ZrEvas
R:F1—TAh4 B:UALCZR H—L— - JvX> - T7—LARS
. LA :56. 222 |40.3| - Rrm (@R)
slzl7 | pvFe—ny2- Ho4 B (11516/22) 2-2-2-2 | 40.3 1 zs) ol
T4 =TZhA4 B:HANVFy—byT Sz e ]
= o4 | HERK 1:56.7 4-4-5-7 | 40.2| — 3 432 | BEA—E (£R)
6lglg|FTLZvaTL 56.0 @ 1/2) (g) | REHEE
L:TANVRTy>Ya BFLTFITr—h FFIRAS
- _ ; > 7 | EABAX 1:56. 8-5-5-5 |40.2| — 5 434 | £H—8 (£R)
7155 RF—IF—1 56.0 (7€) ) FEESE
R:T77NT5T B.TIALRT—T HET7—L
" RIHHETE :57. -9-9- . - SEEF (£2R)
glilq|¥=ry4ay 5 | E3 1(557)9 8-9-9-8 | 41.0 7 (4538) T
R:vPNyBgLHT1 B:vwhYU-— () #8a—-FL—->a>@qE77
N MAHIES] :00. —-2-3- . — FHEE (£R)
N . MEZSEILE S R B0s | FEES M7 S AR i
R:T7RIAYL—> BTIVILL P45
® I—F—@EBIERL
13=3r= 6,(4,7),8,(2,3),9,(1,5)
23=7F= 6, (4,7),8,(2,3,5),9,1
J=7r= 6,7,4,2,(5,8),3,9,1
43—F— 6,7,2,3,(4,5),8,(1,9)
[ RN
B 6 560 74K 2-6 1,010 & 2-6 7,260 &R 2-3-6 20,420
# B 6 210H 3-6 1,750 B 6-2 11,590 EE 6-2-3 96,270M
2 460/ 2-3 2,050 B = 2-6 3,550M
3 510 B H 6-2 8,590

ABICOVWTRDTEEERROODE. TR LIV,




